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IH‘E[ Y Name Team 1sec | 2sec | 3sec | 4sec | 5sec | 6sec | 7sec Total JUF | 2= SS
1_| 21 [B/K BABND_——X4x4]__0 0 0 1 0 0 10 11 6 5 21.04
2 JpPoo4| =& 153 JoustomHouse] 0 5 0 1 4 0 2 12 7 3 26.89
3 |Poos|luAR FEXRERU—E—X] 0 10 2 0 1 0 10 23 5 3 28.18
4 Jpoo2| i+ B2 |STTHA—JL] © 1 1 1 10 0 10 23 5 2 18.53
5 Jpoot| Bds E— |[RIJ—E—X] 0 10 1 3 10 0 0 24 5 3 33.37
6 2 | M &= | AF—L 0 1 3 4 10 0 10 28 5 2 19.76
7 19 [0 8 [=esL—od] 0 2 4 1 10 1 10 28 5 1 23.97
8 |Po03| AMH BEBH ITS 0 10 0 1 10 0 10 31 4 3 25.1
9 30 | Riff FiE |swsescazas-] 0 0 10 0 10 10 2 32 4 3 17.71
10 | 34 | A #IBH |[SPOTXTUNE| 0 10 1 2 10 1 10 34 4 1 21.13
11 _Jroos] AEE = Ty 0 10 4 [ 10 2 10 37 4 [ 23.99
12 28 | /MR F—|T-TILOXF] 0 10 4 2 10 3 10 39 4 1 21.54
13 29 | XiEE EE |RUV—E—X] 0 10 10 i 10 0 10 41 3 2 2459
14 23 HF = ITS 0 10 10 0 10 2 10 42 3 2 19.94
15 20 | 8@ #H—|PL=—TE|] 0 10 10 1 10 2 10 43 3 1 21.51
16 22 | 194 =R/ |TTI7—v-A] 0 10 10 0 10 10 10 50 2 2 32.61
17 | 31 Kfg F|swsesazas—]| 0 10 10 0 10 10 10 50 2 2 19.76
18 | 18 Jt8K FPEH] ABW 0 10 10 2 10 10 10 52 2 1 25.1
19 25 AR B | AF—L 0 10 99 10 99 10 99 327 1 1 24.37
X552z

[EIod TP Name Team 1sec | 2sec | 3sec | 4sec | 5sec | 6sec | 7sec Total 7'}7-’ )= SS
1 [xoo1] /h& Fth [7oE0L7—=5] 0 10 4 1 2 0 17 5 2 16.7
2 |xoo02| &2 XB K+— 0 0 6 1 10 3 20 5 2 21.19
3 11 | iEch A [orosLakoz] 0 10 3 [ 10 1 25 4 [ 23.06
4 39 | WFETE | EREs 0 10 2 3 10 2 27 4 1 18.21
5 |X005| FH BEX | SMES 0 10 5 0 10 4 29 4 2 22.39
6 16 | WH BEE] —FEAR 0 10 3 3 10 3 29 4 1 25.69
7 126 |8k EF [e—tL—2d] 0 10 4 B 10 0 |~ 30 4 2 25.01
8 37 Bl FE ARAIL 0 3 10 8 10 2 33 4 [ 26.11
9 13 BRE 136 XRBGHEE 0 10 7 10 10 2 39 3 1 24.37
10 38 aH# 5 AAJL 0 10 9 2 10 10 41 3 1 20.81
11 15 |BE IE BEEN 0 10 10 10 10 1 41 2 1 24.37
12 14 | #Hh = BRE 0 10 7 10 10 5 42 3 1 21.04
13 36 Big 3 ARAIL 0 10 10 5 10 10 45 2 1 22.39
14 35 22k B |custommuousez| O 10 8 10 10 10 48 2 1 20.37
15 17 | i#E 3B K+ — 0 10 10 10 10 10 50 1 1 28.75
Nssz

T[E‘LT'I_ [ty Name Team 1sec | 2sec | 3sec | 4sec | 5sec | 6sec | 7sec Total U7 | 2= SS
1 27 | 88K =+ |e—tL—25] 0 0 4 3 4 11 5 2 35.38
2 40 | Al = 0 0 3 0 10 13 4 3 22.42
3 [wnoot] Wik & 0 2 3 0 10 15 4 2 26.55
4 12 | HH BB [71vsLxdivz] 0 0 5 2 10 17 4 2 28.93




